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1. 
ଵଵ

ଶଵ
            

2. a)  𝑢 ൌ 3 b)  𝑏 ൌ 6 c)  𝑥 ൌ
ଵଵ

଺
             

3. 11𝑎 

4. 0.004017𝑘𝑔 ;  432𝑚𝑖𝑛 ;  450𝑠𝑒𝑘 ;  0.735𝑚 

5. a) 
ହరିଶହ

ଵ଴଴
ൌ 6 b)  ሺ13 െ 9ሻ ൅ 13 ∙ 9 ൌ 121 

6. 195 𝐶𝐻𝐹  

7. a)  2 ∙ 2 ∙ 5 ∙ 11 ∙ 17 b)  180 𝑃𝑒𝑟𝑠𝑜𝑛𝑒𝑛 

8. a) 25𝑥 ൅ 20 ∙ ሺ270 െ 𝑥ሻ b)  𝑥 ൌ 110 Erwachsene 

9. a) ሺ𝑥 െ 2ሻ ൅ 5 ൌ 0 ;  𝑥 ൌ െ3 

b) ሺ2𝑥 ൅ 9ሻ ൅ ሺ𝑥 ൅ 12ሻ ൌ 0 ;  𝑥 ൌ െ7 

 

10.   
 
 
  

Gleichung Aussage 
A 3 
B 1 
C 4 
D 2 

11. a)   b) Zwischen 40 MWh und 160 MWh 

    

12. a)  𝑃 ൌ
଺

ସଽ
 b)  𝑃 ൌ

ଷଷ

ସଽ
 

 


